Ya cup = (1Ys0z/409)
Iscup =(1%20z/50q)

1 cup = (2 Y202/750)
scup = (3 1s0z/100q)
3 cup = (3 30z/110q)
1cup =(50z/1500)

Ya cup = (1%2 0z/45q)
3 cup =(20z/60q)
1, cup = (3 0z/90g)
Zscup = (4 0z/120q)

3 cup = (4 Y2 0z/1350)

1cup =(60z/1800)

Ya cup =(2 0z/60q)
Iscup =(2 Y2 0z/75¢)
Yo cup = (4 0z/1200)
3 cup = (5 0z/150q)
3 cup = (6 0z/180q)
1cup =(8 0z/2400)

s cup = (10z/30q)

I3 cup = (13 0z/40g)
15 cup = (20z [60g)

23 cup = (224 0z/80g)
3 cup = (3 0z /90g)
1cup =(40z/1200)

Ya cup = (10z/30q)
Iscup =(1v30z/40¢)
1 cup = (2 0z/60q)
23 cup =(2%30z/80q)
3 cup =(30z/90q)
1cup =(40z/120q)

Ya cup =(20z/60q)
lacup = (2 Y2 0z/75¢)
Yo cup = (4 0z/120g)
%5 cup =(50z/150q)
3s cup =(60z/170g)
1cup =(80z/225q)

Ya cup =(2floz/60ml)
scup =(2%floz/75ml)
1 cup = (4floz/120ml)

Zzcup = (5floz/150ml)
3s cup = (6floz/180ml)
1cup =(8floz/240ml)
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